PIRAMIDE                       EUCLIDE                             

Apotema = (( H + R )        ab=( (ac*ah)                  

R = (( Ap ( H )                  ac=ab /ah

H = (( Ap ( R )                  ah=ab /ac    

A.lat = ( Ap ( PP.base ) / 2 bh=ab /cb

PP.base = ( A.lat  ( 2 ) / Ap bh=( (ah*ch)

Ap = ( A.lat ( 2 ) / PP.base ah=bh /ch

V = ( A.base (H ) / 3           ch=bh/ah   

H = ( V ( 3 ) / A.base         SFERA

A.base = ( V ( 3 ) / H         area=4(*r

V.sfera=4\3(*r                   R=((area/4()

R=(((v*3)/4(
CILINDRO         EQUILATERO

A.lat = Circ. ( H   A.lat=4*A.base

Circ = A.lat / H     A.tot=6*a.base

H = A.lat / Circ.    r=( (A.lat /6() 

A.tot = A.lat + 2A.base      V=2( *r 

A.lat =  A.tot ( 2A.base      r=((v/2()

A.base = ( A.tot ( A.lat )/2

Circ. = R ( 2(       ( R = Circ. / 2(
Circ. = D ( (         ( D = Circ. / (
A.base o Cerchio = R ( (
R = (( A.base o Cerchio / ( )
